=6400—
:6400—2—72>< (14)?

:6400—2—72>< 14 % 142

=6400-22x14x 2

=6400-0616
Area of remaining portion =5784 m?

17

Exercise 17.1

1. (i) variable (ii) data array (iii) range
(iv) frequency data table
(v) frequency (vi) mean

2. Arrange in ascending order
130, 130, 150, 150, 150, 150, 180, 180,
180, 180, 180, 180, 200, 200, 200

MCQs

1. (¢) 2. (d) 3. (c) 4. (b) 5. (d) 6. (a) 7. (d) 8. (d)
Mental Maths

1. 1000, 100 2. 32 cm
3. 24.5cm4. 3x side

Wages | Tally Mark | Frequency
130 | 2
150 1| 4
180 M 6
200 Il 3

5. 40 cm
Data Handling
5,5,6,6
Number Tally Mark | Frequency
1 | 2
2 M 5
3 | 1
4 Il 4
5 W | 6
6 I 2
20

3. Arrange in ascending order
5,5,6,6,6,6,7,77,7,7,7,7,8,8,8,

8,8,9,9,10, 10
Data | Tally Mark Frequency

5 I 2
6 If 4
7 M 7
8 M 5
9 I 2
10 I 2

22

4. Arrange in ascending order
1,1,2,2,2,2,2,3,4,44,4,5,5,5, 5,
‘ 172

5. (i) Arrange in descending order
29, 28, 28, 25, 25, 21, 19, 18, 18,
15,15,12,12,7,7,6,5,4,4,2

(il) Maximum value 29

(i) Minimum value 2

(iv)

Data

Tally Mark

Frequency

29
28
25
21
19
18
15
12

NN

[NCRE (ST ]
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7 I 2 8
6 | 1 Height (in | Numbers of fxx
5 | . cm) (x) plants ( f)
58 20 1160
4 I 2 60 25 1500
2 | 1 62 15 930
6 64 8 512
’ 66 12 792
Weight Number of fxx 74 10 740
(kg) (x) | workers (f) 90 5634
60 4 240 Mean — Y fx _ 5634
63 3 189 Xf 90
Mean = 62.6cm
66 2 132 9
69 2 138
Class- X f xx f
72 1 72 Interval
12 71 020 | 10| 7 70
X 20-40 30 8 240
> f; 12 40-60 50 12 600
Mean = 64.250 kg 60-80 70 10 700
7. 80-100 90 8 720
100-120 | 110 5 550
No. of No. of pages | fxx
misprint (x) f Xf =50 |Zxf =2880
0 154 0 Mean :%
1 95 95 22880
= =57.6
2 36 72 50
3 7 21 Mean =57.6
Mean of runs scored by the bats man
4 6 24 _
=57.6
5 2 10 10.
300 222 C.I. | x | Numbers xf
(Age) in Patients
Mean = ij’f f)
22 10-15| 12.5 5 62.5
300 15-20| 17.5 6 105
Mean =0.74 20-25]22.5 8 180

173’



25-30 | 27.5 12 330
30-35 | 32.5 195
35-40|37.5 112.5
Y f=40 | Txf=985
.29
TS
_85 4625
40

Exercise 17.2

1. First 15 odd numbers are

1,3,5 7,9, 11, 13, 15, 17, 19, 21, 23,

25,27,29
n+1 th
Median :(2j term

[15 + 1)”‘
= term
2

=8" term
Median =15
2. First 10 even numbers are
2,4,6,8,10,12,14,16, 18, 20
Median

1 th " th
=— [j term + [ + Ij term
21\ 2 2

:%[Sth term + 6™ term)]

1
=—(10+12
5 ¢ )

Median =11
3. First 50 whole numbers are
0,11,2,4, ......... 49
Median

1 1 th " th
=— j term+| —+ 1| term
21\ 2 2

1

27[25th term + 26" term]

= (24 +25)

1
= 49)

Median =24.5

D=

‘ 174

(i)

(i)

(iif)

: .(i)

(i)

Arrange in Ascending order
2,2,3,5,7,9,9, 10, 11 (odd terms)

n+l1 th
Median :[2] term

9+1\"
= — term
2
=5" term
Median =7
Arrange in ascending oder

6, 8, 9,15, 16, 18, 21, 22, 25
(9 terms) odd

n+1 th
Median :(2j term

_( 9+ ljth
2
= Sth term

Median =16

Arrange in Ascending order

6, 8,9, 13, 15, 16, 18, 20, 21, 22,
51 (.11 terms odd)

n+1 th
Median :(2] term

[1 1+ 1)“‘
= term
2

=6 term
Median =16
Arrange in ascending order
9,10,17, 19, 21, 22, 32, 35,
(8 terms .".even)

Median

1 " th n th
=— [j term + ( + 1) term
21\ 2 2

=% [4th term + 50 term]

1
=—(9+21
2( )

1
2(40)
Median =20
Arrange in ascending order
29, 35, 51, 55, 60, 63, 72, 82, 85,
91
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Median

1 " th " th
=— ( term+| — + lj term
2 (2 2

:% [5th term + 6™ term]

1 1
=—(60+63)=—(123
5 )= (123)

Median =61.5
6. Arrange is ascending order
17,17, 19, 19, 20, 21, 22, 23, 24, 25, 26,
29,31, 40

n+1 th
Median :(2j term

15+1\P
= term
2

=8™M term
Median =23
7. Arrange in ascending order
31, 34, 36, 37, 40, 43, 46, 50, 52, 53
Median

th th
1{(1 n
=—|| =] term+|—=+1 term
2{@ (2 ] ]

[Sth term + 6" term]

Median =41.5 years
8. We have,
28, 34, 32, 41, 36, 32, 36, 38, 32, 40, 31
In the given data 32 is repeated more
number of times than any other number
. Model age =32 years
We have,
10,8,4,7,8,11,15,8, 6, 8
In the given data 8§ is repeated more
number of times than any other
number
Mode =8
We have,
27, 23, 39, 18, 27, 21, 27,27, 40,
36,27
In the given data 27 is repeated
more number of times than any

9. ()

(i)

Mathematics—7 /4

other number
o Mode =27
10. Wehave, 1,2,3,3,3,4,5,5,6,7
Median

11 th " th
=— () term + [ + lj term
21\ 2 2

=%[5th term + 6™ term]

1

5 (3+4)
Median =3.5
Mode : in the given data 3 occures
maximum number of times
Mode =3
Mean
1+ 2+3+3+3+4+5+5+6+7
10
39
10
Mean =3.9
11. Wehavel1,1,2,2,3,3,3,6
Median

th th
111 n
=—||=| term+|—+1 term
2[(2) (2 j }

:%[4th term + 50 term]

1 5
5 (2+3) 5
Median =2.5
Mode : In the given data 3 occures
maximum number of times.
Mode =3
1+1+2+2+3+3+3+6
Mean =
8
21
8
. Mean =2.625
12. We have,
Marks 15 1 17 | 20 | 22 | 25

No. of students| 6 6 12 18 8

In the given data marks 22 is obtained
by maximum number of students
Mode =22
175’
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9. Scale : 1 cm = 100 students 11. Scale : 1 unit = 100 km
1800 -
700
640 1700
I 600 1600
2 500 1500
5
= 1400 =
Z 400 3607 1330
3 1300
5300 B fail
z 5 1200 1175
210
200 2 = Fio S 1100
= AEN z
100 2 °lz| . T 1000
sl gl&|3]| % a
ala|ldal|l&|= g 900
=
Mode of Transport —— E 800
|
@ 700
10. Hm A A Q
pes Scale : 1 cm = 5 units 600
4 500
40 400
A
35 300
200 | =
Z 30 g i; e
z P 100 é |84
E; 25 - B
S City——»
s 20
5 i
15
5 15 H
= o MCQs
10 -
i 1. (a) 2. (c) 3. (b) 4. (b) 5. (b) 6. (a)
S
5 i

A B C D Other

Brand

>
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